INFIQ GRADE 1 WORKSHEETS

Advanced Addition - Word Problems

Name Date

Solve the following word problems.

James has 1 calculator. Liam has 1 more calculator than James. How

" many calculators does Liam have?
| calculators
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Ava popped 5 balloons. Mia popped 4 more balloons than Ava. How many
~ balloons did Mia pop? C

balloons

Theodore planted 3 plants. Aiden planted 7 more plants than Theodore.

« How many plants did Aiden plant? f

)
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Isaac and Lincoln are selling donuts at their school fair. Isaac sells 6

. donuts. Lincoln sells 10 more donuts than Isaac. How many donuts does @
. Lincoln sell? \_/ I
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